
 

PRESSIO-ELEMENTS 
Modular wall penetration seals model 13650 

Rac i  s . r . l .  -  v ia  Adr i ano,  101 20128 M i lano –I ta l y  -  www.rac i . i t  –  te l .  +3902262351 – fax  +390226235215 
 

03/16 ST.532.02  New e lement  IL700 Redaz ione mr Approvaz ione M.R.  1/4 
Raci  Sr l  s i  r iserva i l  d i r i t to  d i  apportare  senza preavviso  cambiamenti  a i  dat i  r iportat i  in  funzione de l lo  
sv i luppo e  de l l ’  evoluz ione del  prodotto.  

 

  Retrof i t  appl icat ion 

  Appl icab le for  var ious construct ions and p lants 

  Cost-ef f icent  so lut ion 

  Short  term del ivery,  standards on stock 

  Good d i f ferent iat ion of  the var ious rubber qual i t ies  
because of  d i f ferent  co lours 

  electr ica l  iso lat ion 

  easy stockhold ing 
 

DESCRIPTION 

Press io-E lements Modular  Wal l  Penetrat ion Seals  are an exce l lent  choice to sea l  annular  spaces secure ly 
against  water  and gas. 
Press io-E lements Modular  Seals  can be used f lex ib le because of  the ir  var iab le s izes for  d i f ferent  
combinat ions of  wal l  s leeves/core ho les and media p ipes.  These seals  are bas ica l ly  leakproof  against  
press ing water.  

By press ing of  the rubber between both p last ic  pressure p latesa gas and water  t ight  c losure of  the 
annular  space between medium pipe and cas ing p ipe or  core bor ing can be achieved.  
 
Press io-E lements Modular  Seals  can be a lways used for  retrof i t  appl icat ion.  
Press io-E lements Modualar  Wal l  Pentrat ion Seals  are not  su i tab le for  espec ia l ly  th in wal led p last ic  p ipes 
(e.g.  d istr ic t-heat ing p ipes).  
Pressure rat ings: 

  Elements C-S316-O-OS316: up to 5 bar pressure t ight  
  Elements B-BS316: up to 5 bar  pressure t ight  

Model  13650 can be used at  in let/out let  of  reservo irs,  for  e lectr ic  insulat ion of  p ipe l ine,  as no ise and 
v ibrat ion protecton,  for  mar ine appl icat ion.  
The system is  RADON t ight.  

    

C and S136 -EPDM B and BS316 -SOFT OC and OS136 - NITRILE T – SILICONE 
CARATTERISTICHE TECNICHE 

TYPE VERSION SEALING ELEMENT PRESSURE 
PLATES SCREWS TEMPERATURE 

MIN/MAX[°C] 

C Standard  EPDM – b lack shore  50±5 Po lyamide  6-30 Ga lvan i zed 
s tee l   -40/+80 

S316 Sta in less  s tee l  EPDM – b lack  shore  50±5 Po lyamide  6-30 Sta in less  
s tee l  -40/+80 

BC Sof t  EPDM – b lue  shore  35±5 Po lyamide  6-30 Ga lvan i zed 
s tee l  -40/+80 

BS316 Sof t /s ta in less  s tee l  EPDM –b lue  shore  35±5 Po lyamide  6-30  Sta in less  
s tee l  -40/+80 

OC Oi l  and  fue l  NBR-  green  shore  ±5 (*)  Po l yamide  6-30 Ga lvan i zed 
s tee l  -40/+70 

OS316 Oi l  and  fue l  
S ta in less  s tee l  NBR-  green  shore  ±5 (*)  Po l yamide  6-30 Sta in less  

s tee l  -40/+70 

T High  temperatures  
SIL ICONE grey   

shore  50±5 
Ga lvan i zed s tee l  Ga lvan i zed 

s tee l  -55/+204 

(*) non res iste a i  raggi  UV 

 



 

PRESSIO-ELEMENTS 
Modular wall penetration seals model 13650 

 

03/16 ST.532.02 New e lement  IL700   2/4 
Raci  Sr l  s i  r iserva i l  d i r i t to  d i  apportare  senza preavviso  cambiamenti  a i  dat i  r iportat i  in  funzione de l lo  
sv i luppo e  de l l ’  evoluz ione del  prodotto.  

 

 
DIMENSIONING 
 

 

Annular  space =  ID cas ing p ipe – OD media p ipe 
2 

 
Choose press io e lement type for  annular  space f rom table to  
ca lcu late the r ight  quant i ty .  
 

Ø r ing =  ID cas ing p ipe + OD media p ipe  
2 

  

Nr.  e lements =  Ø r ing x 3,14  
Bow lenght  

 
Round the number of  e lements up or  down to the nearest  
f igure. 

 
Overal l  dimensions 

MOD.  
Sea l ing  ra nge  Bo w 

lenght   
Med ium  p ipe  Widt h  

r ubber  
p ar t  

To t a l  
w id t h  

E lemnt s/
r ing   Sc rews  Type   

m in  max  Ømin  Ømax  

I L100  9 , 0  12 ,5  31 ,0  26 ,9  219 ,0  45  60  4  M4x60  (1 )  

I L200  12 ,5  15 ,7  30 ,0  21 ,3  323 ,9  45  63  4  M5x70  (1 )  

I L265  16 ,0  20 ,0  41 ,0  50 ,0  406 ,4  45  63  5  M5x70  (1 )  

I L275  16 ,0  20 ,0  25 ,6  0 , 0  90 ,0  45  63  4  M5x70  (1 )  

I L300  18 ,0  22 ,5  41 ,0  44 ,5  273 ,0  65  90  5  M6x90  (1 )  

I L310  18 ,0  22 ,5  57 ,0  60 ,3  406 ,4  65  90  5  M6x90  (1 )  

I L315  21 ,1  26 ,0  38 ,4  37 ,0  323 ,9  65  90  5  M6x90  (1 )  

I L325  23 ,2  30 ,0  79 ,0  133 ,0  711 ,0  65  100  6  M6x100  (2 )  

I L340  25 ,5  34 ,0  41 ,4  30 ,0  323 ,9  65  100  4  M6x100  (2 )  

I L360  32 ,0  42 ,0  55 ,1  40 ,0  406 ,4  65  100  5  M6x100  (2 )  

I L400  36 ,0  46 ,0  93 ,1  139 ,7  1220 ,0  85  125  6  M8x130  (2 )  

I L410  37 ,0  48 ,5  67 ,6  60 ,3  323 ,9  85  125  5  M8x130  (2 )  

I L425  28 ,0  37 ,0  93 ,1  144 ,0  1220 ,0  85  125  6  M8x130  (2 )  

I L440  44 ,0  55 ,0  99 ,0  139 ,7  1220 ,0  85  125  6  M8x130  (2 )  

I L475  41 ,0  48 ,5  68 ,6  60 ,3  1220 ,0  85  125  5  M8x130  (2 )  

I L500  60 ,0  71 ,5  99 ,8  100 ,0  1220 ,0  90  140  5  M10x150  (2 )  

I L525  55 ,0  63 ,5  99 ,8  133 ,0  1220 ,0  90  140  6  M10x150  (2 )  

I L575  48 ,0  58 ,0  79 ,3  88 ,9  1220 ,0  90  140  5  M10x150  (2 )  

I L615  81 ,0  98 ,0  155 ,5  219 ,0  3000 ,0  100  165  6  M12x180  (2 )  

I L625  81 ,0  98 ,0  106 ,7  88 ,9  2000 ,0  100  165  5  M12x180  (2 )  

I L650  69 ,0  84 ,0  106 ,7  88 ,9  2000 ,0  100  165  5  M12x180  (2 )  

I L700  95 ,0  110 ,0  155 ,5  219 ,0  3000 ,0  100  165  6  M12x180  (2 )  

D imens i o n s  i n  mm  

S c r ew  t ype :  (1 )  i n s i d e  he xhead   

                ( 2 )  ou te r  he xhead  

Pressure plate 
Rubber element 

Washer and screw 

Annular space 

Wall sleeve/casing/core hole 

wall 

OD medium pipe 



 

PRESSIO-ELEMENTS 
Modular wall penetration seals model 13650 

 

03/16 ST.532.02 New e lement  IL700   3/4 
Raci  Sr l  s i  r iserva i l  d i r i t to  d i  apportare  senza preavviso  cambiamenti  a i  dat i  r iportat i  in  funzione de l lo  
sv i luppo e  de l l ’  evoluz ione del  prodotto.  

 

 
 
Examples of  appl icat ions: 
 
In core dri l led hole  In f ibre-cement wallsleeve In steel  wallsleeve with 

puddle f lange 

 

 
 

MOUNTING INSTRUCTIONS

Please consider fol lowing steps when mounting Pressure-elements Modular Mechanical  Seals:  
 
-  Remove d ir t  and impur i t ies  f rom media p ipe and corebore /  wal l  s leeve 
-  Media p ipe must be centered 
-  Pressure plates must  be adjusted when mount ing 
-  Amount of  e lements have to be mounted as def ined 
-  Make sure that  p ipe is supported before back f i l l ing 
-  Press io-E lement Modular  Seals  are no f ixed point  
-  On sp i ra l -waved p ipes a sea l  cannot be reached 
-  T ighten screws a lways with a torque wrench,  never withpower tools  

 

TORQUE TABLE 

DIMENSIONS 

TYPE 13650/C 
TYPE 13650/S316 

TYPE 13650/OC 
TYPE 13650/OS316  

TYPE 13650/T 

C,  TYPE 13650/BC  
TYPE 13650/BS 316  

BC and BS 316 
Screws 

IL 100 1 Nm 1 Nm M4 

IL200 and IL275 1.5 Nm 1 Nm M5 

f rom IL300 to IL360 5 Nm 4 Nm M6 

f rom IL400 to IL475 15 Nm 12 Nm M8 

f rom IL500 to IL575 30 Nm 22 Nm M10 

f rom IL615 to IL700 60 Nm 48 Nm M12 

  



 

PRESSIO-ELEMENTS 
Modular wall penetration seals model 13650 

 

03/16 ST.532.02 New e lement  IL700   4/4 
Raci  Sr l  s i  r iserva i l  d i r i t to  d i  apportare  senza preavviso  cambiamenti  a i  dat i  r iportat i  in  funzione de l lo  
sv i luppo e  de l l ’  evoluz ione del  prodotto.  

 

 

 

 
1. Center pipe resp. cable in 
the wal l  sleeve/core bore. 
Media pipe resp. cable must 
be supported. A carrying 
function cannot be taken 
over by Pressio Elements 
seals. 
Advice: core bores can be 
coated with epoxy resin to 
protect the cement and 
eventual armoring steel. 
This coating could smoothen 
eventual cavit ies and 
grooves. 
 

 

 

 
2. Connect ends of the 
Pressio Elements.  
Al l  heads of screws must 
point into the direction of 
the instal ler. 
 

 
 

3. It is possible that a chain 
could 
s l ightly sag. No elements 
shal l  be 
taken out of the chain. 
It can be necessary to 
stretch the 
chain at smal ler pipe 
diameters.  

 

4.  Push Pressio Elements 
into the annular space. 
Begin to push in the seal  
f i rst at 6 o’c lock posit ion, 
then right and left up to 
12 o’clock posit ion. Heads 
of screws shal l  be 
accessible wel l  after the 
placing in the wal l .  

 
 

5.  Tighten the screws with a 
torque wrench beginning at 
12 o’clock. 
No tightening with an impact 
wrench!  

 

6.  Tighten every screw 
with about 4 to 5 turns. 
Repeat in clockwise 
direction as long as the 
noted torque (see table) 
is reached and the rubber 
snoozes out between 
pressure plates evenly. 

 

7. Tighten the screws again 
after about 2 hours 
according to mentioned 
torque.  
Repeat this procedure 
several t imes depending on 
outer circumstances (e.g. 
temperatures < 10°C, larger 
annular space etc.). 
To be considered especial ly 
at IL 500 and larger. 

 

 

1 2 

2a 

3 4 

7 

6 5 


